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Problem 1 

 

Start with Larmours formula 
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and its realistic generalisation 

 

P =
μ0q

2

6 cm2

dpμ
d

dpμ

d

 

 
 

 

 
   

 

where the relativistic four vector has the components 

 

p0, p1, p2, p3( ) = E /c, px.py, pz( )  

 

and with d = dt /  and  =
1

1 v 2 /c 2
 

E = mc 2  and  p = mv  
 

Show that the relativistic generalisation leads to the socalled Lienard result 
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Problem  2 
 

Problem 12.52 in Griffiths 

 

 

Problem 3 
 

Problem 12.53 in Griffiths 

 
Problem 4 
 

Problem 12.54 in Griffiths 
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